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(> #1 iii

dsolve({diff (x(t), 1) =3-x(t) — y(2), diff (y(1), 1) =2-x(1), x(0) =2, y(0) =3}, {x(2), ¥(2) });
{x(t)=e2t—l— et,y(t)=62t—|-2et}
[> #2
dsolve({diff (x(t), ) =x(t) + 8- y(1), diff (y(1), 1) =4-x(1), x(0) =4, y(0) =2}, {x(2), ¥(1) });
1+\/W)
o= (L2 8} (14 5) S (1)
1+JW) 1+JW)
B 5\/129 J ’y(t):( 51/129 ) +(1
) sm] B ]
(> #3
with(LinearAlgebra) :

Eigenvalues(Matrix([[1,1,1],[1,1,0],[1,0,0]]));

14

3 (28+841J?)113

(28+841ﬁ)113
- +

L2
3 b

(28+84I\/?)1/3 7 2
) 12 B i3t 3
3(28+841/3)
1/3
28 +841,/3 14
Neq REES TN -
N 3(28+8413)
2
_(28+841ﬁ)1/3_ 7

12

3(28+841J?)1/3

0y

(0))

(&)



(28+841ﬁ)1/3_ 14
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I\/? 1/3
B 3(28+4841/3)
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(> dsolve({diff (x(1), 1) =x(1) + y(t) + z(£), diff ((1). 1) =x(¢) + y(1). diff (z(1), 1) =x(1), x(0)
=1,(0) =2,2(0) =-1}, {x(¢),»(),2(¢) })

x(r)——[(—105670656+181(28+841ﬁ)8'3ﬁ+10081(28+g41ﬁ)5'3ﬁ

43
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13 2|
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— (105670656+181(28+841ﬁ)813ﬁ+10081(28+841ﬁ)513ﬁ

)8]3 )4]3

+6(28+841/3) ~—20160 (28 +841,/3 ) ~ — 4368 (28+841J?)SI3

+ 2596608 (28 + 84 IJ?)1 . + 607488 (28 + 84 Iﬁ)zl * 30481921 (28

+ 841J?)l | 3ﬁ+ 2419213 (28 + 841ﬁ)4l S 24385536 1/3

+ 12579841 (28 + 841ﬁ)2l3ﬁ)

(I\/T(28+84I\/T)213281\/T(28+84I\/3—)2/3+8(28+84I\/3_)11328)t]/

12(28+841JT)1 3
(G (1y3 (28 +8a1y7) P 456105 (28 + 841y7) ' = 840107 + 504) (

-18 (28+841ﬁ)4l3+21ﬁ(28+841ﬁ)4l3— 15681\/?(284-841\/?)1]3))

Loy s sarym)' s (s sa1ym)' 16128107 - 2881 (28 4+ 841y7)



ForyT (s 4sa1y3) S ses 1yF (28 4+ 84103) 1)) ) =

- (1J?(28+841J?)4I3—(28+841J?)4l3+56u?(28+841J?)”3
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(216 (28 +821y3)" 7 (147 (28 +8a13) P 56197 (28 + 841y7) '
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+ 2596608 (28 + 84 IJ?)1 . + 607488 (28 + 84 IJ?)2 . + 30481921 (28
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)
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